
 

 

    

 

                                          

              This is a vay.                                        Now there is another one.  

                               There are two of them.  

                    There are two _________.  



 

 

    

                                                      

       This is a limm.                                    Now there is another one.  

                            There are two of them.  

                  There are two _________.  



 

 

                          

       This is a frass.                                    Now there is another one.  

                            There are two of them.  

                  There are two _________.  



 

 

 

                                                            

       This is a drob.                                      Now there is another one.  

                              There are two of them.  

                    There are two _________.  



 

 

 

                                                 

           This is a bozz.                                      Now there is another one.  

                              There are two of them.  

                    There are two _________.  



 

 

                                      

                This is a snick.                                     Now there is another one. 

      There are two of them. 

                   There are two _________. 



 

 

 

                                                           

     This is a crug.                                      Now there is another one.  

                              There are two of them.  

                    There are two _________.  



 

 

 

 

                                           

       This is a hotch.                                  Now there is another one.  

                          There are two of them.  

               There are two ___________.  



 

 

 

 

                                       

             This is a mup.                                 Now there is another one.  

                         There are two of them.  

               There are two _________.  



 

 

 

 

                                      

          This is a spo.                                   Now there is another one.  

                           There are two of them.  

                 There are two _________.  
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